



Estimates on the Simpson Type Inequalities via Tempered Fractional Integrals

Ayşe Nur Altunok¹ and Tuba Tunç^{1*}

¹Department of Mathematics, Faculty of Science and Arts, Düzce University, Düzce, Turkey

*Corresponding author

Abstract

In this paper, we determine the upper and lower bounds for Simpson-type inequalities involving tempered fractional integrals, focusing on functions with bounded second derivatives. Additionally, by considering specific parameter values in the results, we recover previous studies, thus generalizing the findings of earlier research.

Keywords: Bounded second derivatives; Differentiable function; Riemann-Liouville fractional integrals; Simpson-type inequalities; Tempered fractional integrals.

2010 Mathematics Subject Classification: 26A24; 26A33; 26D07; 26D10; 26D15.

1. Introduction

Simpson's inequality is related to integral approximations in mathematics and it is often used in the context of Simpson's rule. This inequality provides an approximation to the true value of the integral of a function and includes error bounds to determine the accuracy of this approximation. Simpson's inequality can also be thought of as an error analysis of this rule and also provides an upper bound depending on the fourth derivative of the function. This inequality is stated as follows [15] :

Theorem 1.1. Let $f : [a, b] \rightarrow \mathbb{R}$ be a four times continuously differentiable function on (a, b) and let us consider $\|f^{(4)}\|_{\infty} = \sup_{x \in (a, b)} |f^{(4)}(x)| < \infty$. Then, the following inequality holds:

$$\left| \frac{1}{3} \left[\frac{f(a) + f(b)}{2} + 2f\left(\frac{a+b}{2}\right) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{1}{2880} \|f^{(4)}\|_{\infty} (b-a)^4.$$

Recently, several researchers have highlighted Simpson-type inequalities for various kinds of functions, acknowledging their significant geometric relevance and wide range of applications. For example, Dragomir et al. [15] gave the Simpson type inequalities for function of bounded variation. Moreover, Sarikaya [37] and Alomari [2] analysed Simpson's inequality in the context of convex functions and related it to Hermite-Hadamard type inequalities. Also, other works have made important contributions to both numerical analysis and mathematical inequalities by adapting Simpson's inequality to different application areas [16, 28, 33, 30]. Studies on Simpson-type inequalities have also been conducted for functions, including those with twice differentiable, convex absolute values of first derivatives, and p-convex functions.[1, 34, 20, 22, 38, 39, 5]

Conversely, fractional calculus is a mathematical field that deals with derivatives and integrals of non-integer orders. It plays a crucial role in generalizing classical calculus, modeling complex systems, solving fractional differential equations, studying fractals, and has diverse applications in science and engineering. One of the oldest and fundamental building blocks of fractional calculus theory is the Riemann-Liouville fractional integral operator providing a powerful tool for the analysis of differential and integral inequalities as follows:

Definition 1.2. [25, 18] Let f be the function with $f \in L_1[a, b]$. The Riemann-Liouville integrals of order $\alpha > 0$ are:

$$J_{a+}^{\alpha} f(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x-t)^{\alpha-1} f(t) dt, \quad x > a,$$

and

$$J_{b-}^{\alpha} f(x) = \frac{1}{\Gamma(\alpha)} \int_x^b (t-x)^{\alpha-1} f(t) dt, \quad x < b.$$

Here, Γ is the Gamma function and is described as follows:

$$\Gamma(\alpha) = \int_0^{\infty} e^{-u} u^{\alpha-1} du.$$

Taking $\alpha = 1$ in the Riemann-Liouville integrals yields the classical integral.

Riemann-Liouville operator generalised the classical concept of integration, allowing a more flexible analysis structure. The reader is referred to Simpson type inequalities with fractional integrals [13, 14, 12, 23, 26, 35, 4, 29].

The advent of fractional derivatives and integrals like the Caputo-Fabrizio [10], Atangana-Baleanu [3] versions has significantly enhanced the importance and expanded the applications of this field. In order to create a wider range of applications, the tempered fractional integral operator was developed. The tempered operator introduces a modification to the Riemann-Liouville integral by adding an exponential weighting factor to the functions, thus providing both a new perspective on the theory and more precise results in practical applications. This transition increased the applicability of fractional integral inequalities to more complex systems and reinforced the importance of fractional calculus in modern research fields.

Now, we give the incomplete gamma function definition which is used in the tempered fractional operator.

Definition 1.3. [32] For the real numbers $\alpha > 0$ and $x, \lambda \geq 0$, the λ -incomplete gamma function is defined as follows:

$$\Upsilon_{\lambda}(\alpha, x) = \int_0^x t^{\alpha-1} e^{-\lambda t} dt.$$

If $\lambda = 1$, incomplete gamma function occurs [11],

$$\Upsilon(\alpha, x) = \int_0^x t^{\alpha-1} e^{-t} dt.$$

Remark 1.4. [32] For the real numbers $\alpha > 0$; $x, \lambda \geq 0$ and $a < b$, there are the following equalities:

$$\begin{aligned} i) \quad \Upsilon_{\lambda(b-a)}(\alpha, 1) &= \int_0^1 t^{\alpha-1} e^{-\lambda(b-a)t} dt = \frac{\Upsilon_{\lambda}(\alpha, b-a)}{(b-a)^{\alpha}}, \\ ii) \quad \int_0^1 \Upsilon_{\lambda(b-a)}(\alpha, x) dx &= \frac{\Upsilon_{\lambda}(\alpha, b-a)}{(b-a)^{\alpha}} - \frac{\Upsilon_{\lambda}(\alpha+1, b-a)}{(b-a)^{\alpha+1}}. \end{aligned}$$

Tempered fractional integral operators are as follows [27, 31]:

Definition 1.5. Let $f \in L_1[a, b]$ and $\alpha > 0, \lambda \geq 0$. The tempered fractional integral operators $\mathcal{J}_{a+}^{(\alpha, \lambda)} f(x)$ and $\mathcal{J}_{b-}^{(\alpha, \lambda)} f(x)$ are presented by

$$\mathcal{J}_{a+}^{(\alpha, \lambda)} f(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x-t)^{\alpha-1} e^{-\lambda(x-t)} f(t) dt, \quad x \in [a, b],$$

and

$$\mathcal{J}_{b-}^{(\alpha, \lambda)} f(x) = \frac{1}{\Gamma(\alpha)} \int_x^b (t-x)^{\alpha-1} e^{-\lambda(t-x)} f(t) dt, \quad x \in [a, b].$$

Tempered fractional calculus is an extension of the classical fractional calculus. If $\lambda = 0$, then the tempered fractional integrals reduce to the Riemann-Liouville fractional integrals.

The foundational work by Buschman [8] introduced fractional integration with weak singular and exponential kernels, a step that eventually contributed to the creation of tempered fractional integration. In [32], Hermite-Hadamard-type inequalities for convex functions involving tempered fractional integrals were developed, expanding upon previous results, including those for Riemann integrals and Riemann-Liouville fractional integrals. In [9], Cai et al. demonstrated various fractional Simpson-type inequalities where the second derivatives, in absolute value, are convex. To learn more about tempered fractional integral inequalities, see and the references mentioned there [36, 21].

The purpose of this paper is to investigate Simpson-type inequalities for functions whose second derivatives are bounded, using tempered fractional integrals. After giving the necessary definitions, lower and upper bounds of Simpson type inequalities for the operators of tempered fractional integrals using functions whose second derivatives are bounded will be presented.

2. Essential outcomes of some Simpson-type inequalities applicable to bounded functions

In this section, we establish the following inequalities which give upper and lower bounds of Simpson type inequalities for tempered fractional integral operators. Here, fractional Simpson-type inequalities are defined for all $t \in [a, b]$; it is applied to functions satisfying the condition $m \leq f''(t) \leq M$ which is used instead of convexity.

Theorem 2.1. Let $f : [a, b] \rightarrow \mathbb{R}$ is a twice differentiable function, and $f \in L_1[a, b]$. If f'' is bounded, i.e., $m \leq f''(t) \leq M$ for all $t \in [a, b]$ with $m, M \in \mathbb{R}$ and $\alpha > 0, \lambda \geq 0$, then the following inequalities hold:

$$\begin{aligned} & \frac{1}{6 \Upsilon_\lambda \left(\alpha, \frac{b-a}{2} \right)} \left[-M \frac{(b-a)^2}{4} \Upsilon_\lambda \left(\alpha, \frac{b-a}{2} \right) + [M+2m] \Upsilon_\lambda \left(\alpha+2, \frac{b-a}{2} \right) \right] \\ & \leq \frac{\Gamma(\alpha)}{2 \Upsilon_\lambda \left(\alpha, \frac{b-a}{2} \right)} \left[\mathcal{J}_{a+}^{(\alpha, \lambda)} f \left(\frac{a+b}{2} \right) + \mathcal{J}_{b-}^{(\alpha, \lambda)} f \left(\frac{a+b}{2} \right) \right] - \frac{1}{6} \left[f(a) + 4f \left(\frac{a+b}{2} \right) + f(b) \right] \\ & \leq \frac{1}{6 \Upsilon_\lambda \left(\alpha, \frac{b-a}{2} \right)} \left[-m \frac{(b-a)^2}{4} \Upsilon_\lambda \left(\alpha, \frac{b-a}{2} \right) + [m+2M] \Upsilon_\lambda \left(\alpha+2, \frac{b-a}{2} \right) \right]. \end{aligned} \quad (2.1)$$

Proof. When we regularize the equation of the tempered fractional integral operators and then apply change of variables, we get

$$\begin{aligned} & \frac{\Gamma(\alpha)}{2 \Upsilon_\lambda \left(\alpha, \frac{b-a}{2} \right)} \left[\mathcal{J}_{a+}^{(\alpha, \lambda)} f \left(\frac{a+b}{2} \right) + \mathcal{J}_{b-}^{(\alpha, \lambda)} f \left(\frac{a+b}{2} \right) \right] \\ & = \frac{1}{2 \Upsilon_\lambda \left(\alpha, \frac{b-a}{2} \right)} \\ & \quad \times \left[\int_a^{\frac{a+b}{2}} \left(\frac{a+b}{2} - x \right)^{\alpha-1} e^{-\lambda \left(\frac{a+b}{2} - x \right)} f(x) dx + \int_{\frac{a+b}{2}}^b \left(x - \frac{a+b}{2} \right)^{\alpha-1} e^{-\lambda \left(x - \frac{a+b}{2} \right)} f(x) dx \right] \\ & = \frac{1}{2 \Upsilon_\lambda \left(\alpha, \frac{b-a}{2} \right)} \\ & \quad \times \left[\int_a^{\frac{a+b}{2}} \left(\frac{a+b}{2} - x \right)^{\alpha-1} e^{-\lambda \left(\frac{a+b}{2} - x \right)} f(x) dx + \int_a^{\frac{a+b}{2}} \left(\frac{a+b}{2} - x \right)^{\alpha-1} e^{-\lambda \left(\frac{a+b}{2} - x \right)} f(a+b-x) dx \right] \\ & = \frac{1}{2 \Upsilon_\lambda \left(\alpha, \frac{b-a}{2} \right)} \left[\int_a^{\frac{a+b}{2}} \left(\frac{a+b}{2} - x \right)^{\alpha-1} e^{-\lambda \left(\frac{a+b}{2} - x \right)} [f(x) + f(a+b-x)] dx \right]. \end{aligned} \quad (2.2)$$

With the use of the equality (2.2), we obtain

$$\begin{aligned} & \frac{\Gamma(\alpha)}{2 \Upsilon_\lambda \left(\alpha, \frac{b-a}{2} \right)} \left[\mathcal{J}_{a+}^{(\alpha, \lambda)} f \left(\frac{a+b}{2} \right) + \mathcal{J}_{b-}^{(\alpha, \lambda)} f \left(\frac{a+b}{2} \right) \right] - \frac{1}{6} \left[f(a) + 4f \left(\frac{a+b}{2} \right) + f(b) \right] \\ & = \frac{1}{2 \Upsilon_\lambda \left(\alpha, \frac{b-a}{2} \right)} \left[\int_a^{\frac{a+b}{2}} \left(\frac{a+b}{2} - x \right)^{\alpha-1} e^{-\lambda \left(\frac{a+b}{2} - x \right)} [f(x) + f(a+b-x)] dx \right] \\ & \quad - \frac{1}{6} \left[f(a) + 4f \left(\frac{a+b}{2} \right) + f(b) \right] \\ & = \frac{1}{6 \Upsilon_\lambda \left(\alpha, \frac{b-a}{2} \right)} \\ & \quad \times \left[\int_a^{\frac{a+b}{2}} \left(\frac{a+b}{2} - x \right)^{\alpha-1} e^{-\lambda \left(\frac{a+b}{2} - x \right)} \left[3f(x) + 3f(a+b-x) - \left(f(a) + 4f \left(\frac{a+b}{2} \right) + f(b) \right) \right] dx \right]. \end{aligned} \quad (2.3)$$

It is obvious that we can represent these as:

$$f(x) - f(a) = \int_a^x f'(t) dt, \quad (2.4)$$

$$f(a+b-x) - f(b) = - \int_{a+b-x}^b f'(t) dt = - \int_a^x f'(a+b-t) dt. \quad (2.5)$$

Summing the equalities (2.4) and (2.5), we get

$$f(x) + f(a+b-x) - f(a) - f(b) = \int_a^x [f'(t) - f'(a+b-t)] dt. \quad (2.6)$$

On the other hand, based on the hypothesis, we know that $m \leq f''(u) \leq M$ for all $u \in [a, b]$. Integrating this inequality from t to $a+b-t$ gives us

$$m \int_t^{a+b-t} du \leq \int_t^{a+b-t} f''(u) du \leq M \int_t^{a+b-t} du$$

i.e

$$m(a+b-t) \leq f'(a+b-t) - f'(t) \leq M(a+b-t). \quad (2.7)$$

Integrating the inequality (2.7) with respect to t from a to x gives us

$$M(b-x)(a-x) \leq \int_a^x [f'(t) - f'(a+b-t)] dt \leq m(b-x)(a-x).$$

By applying the equality (2.6), we find that

$$M(b-x)(a-x) \leq f(x) + f(a+b-x) - f(a) - f(b) \leq m(b-x)(a-x). \quad (2.8)$$

In addition, it can be simply written as:

$$f(x) - f\left(\frac{a+b}{2}\right) = - \int_x^{\frac{a+b}{2}} f'(t) dt, \quad (2.9)$$

$$f(a+b-x) - f\left(\frac{a+b}{2}\right) = \int_{\frac{a+b}{2}}^{a+b-x} f'(t) dt = \int_x^{\frac{a+b}{2}} f'(a+b-t) dt. \quad (2.10)$$

Let's make the same arrangement for the equalities (2.9) and (2.10) as the equalities (2.4) and (2.5). When we sum the equalities (2.9) and (2.10), we have

$$f(x) + f(a+b-x) - 2f\left(\frac{a+b}{2}\right) = \int_x^{\frac{a+b}{2}} [f'(a+b-t) - f'(t)] dt. \quad (2.11)$$

Integrating the inequality (2.7) with respect to t over $[x, \frac{a+b}{2}]$ and using the equality (2.11) leads to

$$2m\left(\frac{a+b}{2} - x\right)^2 \leq 2\left[f(x) + f(a+b-x) - 2f\left(\frac{a+b}{2}\right)\right] \leq 2M\left(\frac{a+b}{2} - x\right)^2. \quad (2.12)$$

Summing the equations (2.8) and (2.12) gives the following result:

$$\begin{aligned} & M(b-x)(a-x) + 2m\left(\frac{a+b}{2} - x\right)^2 \\ & \leq 3f(x) + 3f(a+b-x) - \left[f(a) + f(b) + 4f\left(\frac{a+b}{2}\right)\right] \\ & \leq m(b-x)(a-x) + 2M\left(\frac{a+b}{2} - x\right)^2. \end{aligned} \quad (2.13)$$

Multiplying the inequality (2.13) by $\frac{\left(\frac{a+b}{2}-x\right)^{\alpha-1} e^{-\lambda\left(\frac{a+b}{2}-x\right)}}{6\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)}$ and then integrating the result obtained over the interval $\left[a, \frac{a+b}{2}\right]$, we get

$$\begin{aligned} & \frac{1}{6\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)} \left\{ \int_a^{\frac{a+b}{2}} \left(\frac{a+b}{2}-x\right)^{\alpha-1} e^{-\lambda\left(\frac{a+b}{2}-x\right)} \left[M(b-x)(a-x) + 2m\left(\frac{a+b}{2}-x\right)^2 \right] dx \right\} \\ & \leq \frac{1}{6\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)} \\ & \quad \times \left\{ \int_a^{\frac{a+b}{2}} \left(\frac{a+b}{2}-x\right)^{\alpha-1} e^{-\lambda\left(\frac{a+b}{2}-x\right)} \left[3f(x) + 3f(a+b-x) - \left(f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right) \right] dx \right\} \\ & \leq \frac{1}{6\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)} \\ & \quad \times \left\{ \int_a^{\frac{a+b}{2}} \left(\frac{a+b}{2}-x\right)^{\alpha-1} e^{-\lambda\left(\frac{a+b}{2}-x\right)} \left[m(b-x)(a-x) + 2M\left(\frac{a+b}{2}-x\right)^2 \right] dx \right\}. \end{aligned} \quad (2.14)$$

The integral in the inequality (2.14) is equal to the following:

$$\begin{aligned} & \int_a^{\frac{a+b}{2}} \left(\frac{a+b}{2}-x\right)^{\alpha-1} e^{-\lambda\left(\frac{a+b}{2}-x\right)} \left[M(b-x)(a-x) + 2m\left(\frac{a+b}{2}-x\right)^2 \right] dx \\ & = -M \frac{(b-a)^2}{4} \Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right) + [M+2m] \Upsilon_{\lambda}\left(\alpha+2, \frac{b-a}{2}\right). \end{aligned} \quad (2.15)$$

Substituting the equality (2.15) in the inequality (2.3), we obtain

$$\begin{aligned} & \frac{1}{6\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)} \left[-M \frac{(b-a)^2}{4} \Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right) + [M+2m] \Upsilon_{\lambda}\left(\alpha+2, \frac{b-a}{2}\right) \right] \\ & \leq \frac{\Gamma(\alpha)}{2\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)} \left[\mathcal{J}_{a+}^{(\alpha, \lambda)} f\left(\frac{a+b}{2}\right) + \mathcal{J}_{b-}^{(\alpha, \lambda)} f\left(\frac{a+b}{2}\right) \right] - \frac{1}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] \\ & \leq \frac{1}{6\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)} \left[-m \frac{(b-a)^2}{4} \Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right) + [m+2M] \Upsilon_{\lambda}\left(\alpha+2, \frac{b-a}{2}\right) \right]. \end{aligned}$$

The proof is completed. $\square$

Remark 2.2. If we take $\lambda = 0$ in the inequality (2.1), the following result is obtained:

$$\begin{aligned} & \frac{(b-a)^2}{12(\alpha+2)} [m\alpha - M] \\ & \leq \frac{2^{\alpha-1}\Gamma(\alpha+1)}{(b-a)^{\alpha}} \left[\mathcal{J}_{a+}^{\alpha} f\left(\frac{a+b}{2}\right) + \mathcal{J}_{b-}^{\alpha} f\left(\frac{a+b}{2}\right) \right] - \frac{1}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] \\ & \leq \frac{(b-a)^2}{12(\alpha+2)} [M\alpha - m]. \end{aligned}$$

This inequality was derived by Budak et al. in the paper [6].

Remark 2.3. When $\lambda = 0$ and $\alpha = 1$ are substituted in inequality (2.1), the following result follows:

$$\frac{(b-a)^2}{36} [m - M] \leq \frac{1}{b-a} \int_a^b f(t) dt - \frac{1}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] \leq \frac{(b-a)^2}{36} [M - m], \quad (2.16)$$

which was proved by Budak et al. in [6].

Theorem 2.4. Given the assumptions of Theorem 2.1, the following inequalities hold:

$$\begin{aligned}
 & \frac{1}{6 \Upsilon_{\lambda} \left(\alpha, \frac{b-a}{2} \right)} \\
 & \times \left\{ [M+2m] \left[\Upsilon_{\lambda} \left(\alpha+2, \frac{b-a}{2} \right) - (b-a) \Upsilon_{\lambda} \left(\alpha+1, \frac{b-a}{2} \right) \right] + m \frac{(b-a)^2}{2} \Upsilon_{\lambda} \left(\alpha, \frac{b-a}{2} \right) \right\} \\
 & \leq \frac{\Gamma(\alpha)}{2 \Upsilon_{\lambda} \left(\alpha, \frac{b-a}{2} \right)} \left[\mathcal{J}_{\left(\frac{a+b}{2} \right)^+}^{(\alpha, \lambda)} f(b) + \mathcal{J}_{\left(\frac{a+b}{2} \right)^-}^{(\alpha, \lambda)} f(a) \right] - \frac{1}{6} \left[f(a) + 4f \left(\frac{a+b}{2} \right) + f(b) \right] \\
 & \leq \frac{1}{6 \Upsilon_{\lambda} \left(\alpha, \frac{b-a}{2} \right)} \\
 & \times \left\{ [m+2M] \left[\Upsilon_{\lambda} \left(\alpha+2, \frac{b-a}{2} \right) - (b-a) \Upsilon_{\lambda} \left(\alpha+1, \frac{b-a}{2} \right) \right] + M \frac{(b-a)^2}{2} \Upsilon_{\lambda} \left(\alpha, \frac{b-a}{2} \right) \right\}.
 \end{aligned} \tag{2.17}$$

Proof. When we edit the equation of tempered integral operators and then change variables, we get

$$\begin{aligned}
 & \frac{\Gamma(\alpha)}{2 \Upsilon_{\lambda} \left(\alpha, \frac{b-a}{2} \right)} \left[\mathcal{J}_{\left(\frac{a+b}{2} \right)^+}^{(\alpha, \lambda)} f(b) + \mathcal{J}_{\left(\frac{a+b}{2} \right)^-}^{(\alpha, \lambda)} f(a) \right] \\
 & = \frac{1}{2 \Upsilon_{\lambda} \left(\alpha, \frac{b-a}{2} \right)} \left\{ \int_{\frac{a+b}{2}}^b (b-x)^{\alpha-1} e^{-\lambda(b-x)} f(x) dx + \int_a^{\frac{a+b}{2}} (x-a)^{\alpha-1} e^{-\lambda(x-a)} f(x) dx \right\} \\
 & = \frac{1}{2 \Upsilon_{\lambda} \left(\alpha, \frac{b-a}{2} \right)} \left\{ \int_a^{\frac{a+b}{2}} (x-a)^{\alpha-1} e^{-\lambda(x-a)} f(a+b-x) dx + \int_a^{\frac{a+b}{2}} (x-a)^{\alpha-1} e^{-\lambda(x-a)} f(x) dx \right\} \\
 & = \frac{1}{2 \Upsilon_{\lambda} \left(\alpha, \frac{b-a}{2} \right)} \left\{ \int_a^{\frac{a+b}{2}} (x-a)^{\alpha-1} e^{-\lambda(x-a)} [f(x) + f(a+b-x)] dx \right\}.
 \end{aligned} \tag{2.18}$$

With the application of the equality (2.18), we obtain

$$\begin{aligned}
 & \frac{\Gamma(\alpha)}{2 \Upsilon_{\lambda} \left(\alpha, \frac{b-a}{2} \right)} \left[\mathcal{J}_{\left(\frac{a+b}{2} \right)^+}^{(\alpha, \lambda)} f(b) + \mathcal{J}_{\left(\frac{a+b}{2} \right)^-}^{(\alpha, \lambda)} f(a) \right] - \frac{1}{6} \left[f(a) + 4f \left(\frac{a+b}{2} \right) + f(b) \right] \\
 & = \frac{\Gamma(\alpha)}{2 \Upsilon_{\lambda} \left(\alpha, \frac{b-a}{2} \right)} \left\{ \int_a^{\frac{a+b}{2}} (x-a)^{\alpha-1} e^{-\lambda(x-a)} [f(x) + f(a+b-x)] dx \right\} \\
 & \quad - \frac{1}{6} \left[f(a) + 4f \left(\frac{a+b}{2} \right) + f(b) \right] \\
 & = \frac{\Gamma(\alpha)}{6 \Upsilon_{\lambda} \left(\alpha, \frac{b-a}{2} \right)} \\
 & \quad \times \left\{ \int_a^{\frac{a+b}{2}} (x-a)^{\alpha-1} e^{-\lambda(x-a)} \left[3f(x) + 3f(a+b-x) - \left(f(a) + 4f \left(\frac{a+b}{2} \right) + f(b) \right) \right] dx \right\}.
 \end{aligned}$$

First, we multiply the inequality (2.13) by $\frac{(x-a)^{\alpha-1} e^{-\lambda(x-a)}}{6\Upsilon_{\lambda}(\alpha, \frac{b-a}{2})}$ and then integrate the resulting expression over the interval $\left[a, \frac{a+b}{2}\right]$, we have

$$\begin{aligned} & \frac{1}{6\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)} \left\{ \int_a^{\frac{a+b}{2}} (x-a)^{\alpha-1} e^{-\lambda(x-a)} \left[M(b-x)(a-x) + 2m \left(\frac{a+b}{2} - x \right)^2 \right] dx \right\} \\ & \leq \frac{1}{6\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)} \\ & \quad \times \left\{ \int_a^{\frac{a+b}{2}} (x-a)^{\alpha-1} e^{-\lambda(x-a)} \left[3f(x) + 3f(a+b-x) - \left(f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right) \right] dx \right\} \\ & \leq \frac{1}{6\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)} \left\{ \int_a^{\frac{a+b}{2}} (x-a)^{\alpha-1} e^{-\lambda(x-a)} \left[m(b-x)(a-x) + 2M \left(\frac{a+b}{2} - x \right)^2 \right] dx \right\}. \end{aligned} \quad (2.19)$$

The integral in the inequality (2.19) is derived as follows:

$$\begin{aligned} & \int_a^{\frac{a+b}{2}} (x-a)^{\alpha-1} e^{-\lambda(x-a)} \left[M(b-x)(a-x) + 2m \left(\frac{a+b}{2} - x \right)^2 \right] dx \\ & = [M+2m] \left[\Upsilon_{\lambda}\left(\alpha+2, \frac{b-a}{2}\right) - (b-a) \Upsilon_{\lambda}\left(\alpha+1, \frac{b-a}{2}\right) \right] + m \frac{(b-a)^2}{2} \Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right). \end{aligned} \quad (2.20)$$

When we substitute the equality (2.20) into the inequality (2.19), we get

$$\begin{aligned} & \frac{1}{6\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)} \\ & \times \left\{ [M+2m] \left[\Upsilon_{\lambda}\left(\alpha+2, \frac{b-a}{2}\right) - (b-a) \Upsilon_{\lambda}\left(\alpha+1, \frac{b-a}{2}\right) \right] + m \frac{(b-a)^2}{2} \Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right) \right\} \\ & \leq \frac{\Gamma(\alpha)}{2\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)} \left[\mathcal{J}_{\left(\frac{a+b}{2}\right)^+}^{(\alpha, \lambda)} f(b) + \mathcal{J}_{\left(\frac{a+b}{2}\right)^-}^{(\alpha, \lambda)} f(a) \right] - \frac{1}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] \\ & \leq \frac{1}{6\Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right)} \\ & \quad \times \left\{ [m+2M] \left[\Upsilon_{\lambda}\left(\alpha+2, \frac{b-a}{2}\right) - (b-a) \Upsilon_{\lambda}\left(\alpha+1, \frac{b-a}{2}\right) \right] + M \frac{(b-a)^2}{2} \Upsilon_{\lambda}\left(\alpha, \frac{b-a}{2}\right) \right\}. \end{aligned}$$

Therefore the proof is completed. □

Remark 2.5. Taking $\lambda = 0$ in inequality (2.17) leads to the following result:

$$\begin{aligned} & \frac{(b-a)^2}{24(\alpha+1)(\alpha+2)} [4m - \alpha(\alpha+3)M] \\ & \leq \frac{2^{\alpha-1}\Gamma(\alpha+1)}{(b-a)^{\alpha}} \left[\mathcal{J}_{\left(\frac{a+b}{2}\right)^+}^{\alpha} f(b) + \mathcal{J}_{\left(\frac{a+b}{2}\right)^-}^{\alpha} f(a) \right] - \frac{1}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] \\ & \leq \frac{(b-a)^2}{24(\alpha+1)(\alpha+2)} [4M - \alpha(\alpha+3)m]. \end{aligned}$$

Budak et al. established this inequality in [6].

Remark 2.6. Taking $\lambda = 0$ and $\alpha = 1$ in inequality (2.17) gives the inequality (2.16).

Theorem 2.7. Given the assumptions of Theorem 2.1, the following double inequality holds:

$$\begin{aligned}
 & \frac{1}{6\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \\
 & \times \left\{ [M+2m] [\Upsilon_\lambda(\alpha+1, b-a) - (b-a)\Upsilon_\lambda(\alpha+1, b-a)] + m \left(\frac{b-a}{2}\right)^2 \Upsilon_\lambda(\alpha, b-a) \right\} \\
 \leq & \frac{\Gamma(\alpha)}{2\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \left[\mathcal{J}_{a+}^{(\alpha, \lambda)} f(b) + \mathcal{J}_{b-}^{(\alpha, \lambda)} f(a) \right] - \frac{1}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] \\
 \leq & \frac{1}{6\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \\
 & \times \left\{ [m+2M] [\Upsilon_\lambda(\alpha+1, b-a) - (b-a)\Upsilon_\lambda(\alpha+1, b-a)] + M \left(\frac{b-a}{2}\right)^2 \Upsilon_\lambda(\alpha, b-a) \right\}.
 \end{aligned} \tag{2.21}$$

Proof. Through editing the equation of tempered integral operators and then changing the variables, we have

$$\begin{aligned}
 & \frac{\Gamma(\alpha)}{2\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \left[\mathcal{J}_{a+}^{(\alpha, \lambda)} f(b) + \mathcal{J}_{b-}^{(\alpha, \lambda)} f(a) \right] \\
 = & \frac{1}{2\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \left\{ \int_a^b (b-x)^{\alpha-1} e^{-\lambda(b-x)} f(x) dx + \int_a^b (x-a)^{\alpha-1} e^{-\lambda(x-a)} f(x) dx \right\} \\
 = & \frac{1}{2\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \left\{ \int_a^b [(x-a)^{\alpha-1} e^{-\lambda(x-a)} + (b-x)^{\alpha-1} e^{-\lambda(b-x)}] f(x) dx \right\} \\
 = & \frac{1}{2\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \left\{ \int_a^b [(x-a)^{\alpha-1} e^{-\lambda(x-a)} + (b-x)^{\alpha-1} e^{-\lambda(b-x)}] f(a+b-x) dx \right\} \\
 = & \frac{1}{4\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \left\{ \int_a^b [(x-a)^{\alpha-1} e^{-\lambda(x-a)} + (b-x)^{\alpha-1} e^{-\lambda(b-x)}] [f(x) + f(a+b-x)] dx \right\} \\
 = & \frac{1}{2\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \left\{ \int_a^{\frac{a+b}{2}} [(x-a)^{\alpha-1} e^{-\lambda(x-a)} + (b-x)^{\alpha-1} e^{-\lambda(b-x)}] [f(x) + f(a+b-x)] dx \right\}.
 \end{aligned} \tag{2.22}$$

By applying the equality (2.22), we obtain

$$\begin{aligned}
 & \frac{\Gamma(\alpha)}{2\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \left[\mathcal{J}_{a+}^{(\alpha, \lambda)} f(b) + \mathcal{J}_{b-}^{(\alpha, \lambda)} f(a) \right] - \frac{1}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] \\
 = & \frac{\Gamma(\alpha)}{2\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \left\{ \int_a^{\frac{a+b}{2}} [(x-a)^{\alpha-1} e^{-\lambda(x-a)} + (b-x)^{\alpha-1} e^{-\lambda(b-x)}] [f(x) + f(a+b-x)] dx \right\} \\
 & - \frac{1}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] \\
 = & \frac{\Gamma(\alpha)}{6\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \\
 & \times \left\{ \int_a^{\frac{a+b}{2}} [(x-a)^{\alpha-1} e^{-\lambda(x-a)} + (b-x)^{\alpha-1} e^{-\lambda(b-x)}] \right. \\
 & \quad \times \left. \left[3f(x) + 3f(a+b-x) - \left(f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right) \right] dx \right\}.
 \end{aligned}$$

Multiplying the inequality (2.13) by $\frac{(x-a)^{\alpha-1}e^{-\lambda(x-a)}+(b-x)^{\alpha-1}e^{-\lambda(b-x)}}{6\Upsilon_\lambda(\alpha, \frac{b-a}{2})}$ and then taking the integral over the interval $\left[a, \frac{a+b}{2}\right]$, we have

$$\begin{aligned}
 & \frac{1}{6\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \\
 & \times \left\{ \int_a^{\frac{a+b}{2}} \left[(x-a)^{\alpha-1} e^{-\lambda(x-a)} + (b-x)^{\alpha-1} e^{-\lambda(b-x)} \right] \left[M(b-x)(a-x) + 2m \left(\frac{a+b}{2} - x \right)^2 \right] dx \right\} \\
 & \leq \frac{\Gamma(\alpha)}{6\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \\
 & \times \left\{ \int_a^{\frac{a+b}{2}} \left[(x-a)^{\alpha-1} e^{-\lambda(x-a)} + (b-x)^{\alpha-1} e^{-\lambda(b-x)} \right] \right. \\
 & \quad \times \left. \left[3f(x) + 3f(a+b-x) - \left(f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right) \right] dx \right\} \\
 & \leq \frac{1}{6\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \\
 & \times \left\{ \int_a^{\frac{a+b}{2}} \left[(x-a)^{\alpha-1} e^{-\lambda(x-a)} + (b-x)^{\alpha-1} e^{-\lambda(b-x)} \right] \left[m(b-x)(a-x) + 2M \left(\frac{a+b}{2} - x \right)^2 \right] dx \right\}.
 \end{aligned} \tag{2.23}$$

The result of the integral in inequality(2.23) is obtained as follows:

$$\begin{aligned}
 & \int_a^{\frac{a+b}{2}} \left[(x-a)^{\alpha-1} e^{-\lambda(x-a)} + (b-x)^{\alpha-1} e^{-\lambda(b-x)} \right] \left[M(b-x)(a-x) + 2m \left(\frac{a+b}{2} - x \right)^2 \right] dx \\
 & = [M+2m] [\Upsilon_\lambda(\alpha+2, b-a) - (b-a) \Upsilon_\lambda(\alpha+1, b-a)] + m \frac{(b-a)^2}{2} \Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right).
 \end{aligned} \tag{2.24}$$

Substituting the equality (2.24) into the inequality (2.23) yields

$$\begin{aligned}
 & \frac{1}{6\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \\
 & \times \left\{ [M+2m] [\Upsilon_\lambda(\alpha+2, b-a) - (b-a) \Upsilon_\lambda(\alpha+1, b-a)] + m \left(\frac{b-a}{2} \right)^2 \Upsilon_\lambda(\alpha, b-a) \right\} \\
 & \leq \frac{\Gamma(\alpha)}{2\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \left[\mathcal{J}_{a+}^{(\alpha, \lambda)} f(b) + \mathcal{J}_{b-}^{(\alpha, \lambda)} f(a) \right] - \frac{1}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] \\
 & \leq \frac{1}{6\Upsilon_\lambda\left(\alpha, \frac{b-a}{2}\right)} \\
 & \times \left\{ [m+2M] [\Upsilon_\lambda(\alpha+2, b-a) - (b-a) \Upsilon_\lambda(\alpha+1, b-a)] + M \left(\frac{b-a}{2} \right)^2 \Upsilon_\lambda(\alpha, b-a) \right\}.
 \end{aligned}$$

Thus, the desired result is obtained. $\square$

Remark 2.8. Setting $\lambda = 0$ in inequality (2.21) gives the following result:

$$\begin{aligned}
 & \frac{(b-a)^2 \alpha}{6(\alpha+1)(\alpha+2)} \left[m \frac{\alpha^2 - \alpha + 2}{2\alpha} - M \right] \\
 & \leq \frac{2^{\alpha-1} \Gamma(\alpha+1)}{(b-a)^\alpha} \left[\mathcal{J}_{\frac{a+b}{2}+}^\alpha f(b) + \mathcal{J}_{\frac{a+b}{2}-}^\alpha f(a) \right] - \frac{1}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] \\
 & \leq \frac{(b-a)^2 \alpha}{6(\alpha+1)(\alpha+2)} \left[M \frac{\alpha^2 - \alpha + 2}{2\alpha} - m \right].
 \end{aligned}$$

This inequality was derived by Budak et al. in [6].

Remark 2.9. Setting $\lambda = 0$ and $\alpha = 1$ in inequality (2.21) gives the inequality (2.16).

Article Information

Acknowledgements: The authors would like to express their sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

Author's contributions: All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

Conflict of Interest Disclosure: No potential conflict of interest was declared by the author.

Copyright Statement: Authors own the copyright of their work published in the journal and their work is published under the CC BY-NC 4.0 license.

Supporting/Supporting Organizations: No grants were received from any public, private or non-profit organizations for this research.

Ethical Approval and Participant Consent: It is declared that during the preparation process of this study, scientific and ethical principles were followed and all the studies benefited from are stated in the bibliography.

Plagiarism Statement: This article was scanned by the plagiarism program. No plagiarism detected.

Availability of data and materials: Not applicable

References

- [1] T. Abdeljawad, S. Rashid, Z. Hammouch, İ. İşcan and Y. M. Chu, Some new Simpson-type inequalities for generalized p -convex function on fractal sets with applications, *Advances in Difference Equations*, Vol:2020, No.1 (2020), 1-26.
- [2] M. Alomari, M. Darus and S. S. Dragomir, New inequalities of Simpson's type for s -convex functions with applications, *RGMIA Res. Rep. Coll.*, Vol:12, No.4 (2009).
- [3] A. Atangana and D. Baleanu, New fractional derivatives with nonlocal and non-singular kernel: theory and application to heat transfer model, *Thermal Science*, Vol:20, No.2 (2016), 763-769.
- [4] H. Budak, F. Hezenci and H. Kara, On parameterized inequalities of Ostrowski and Simpson type for convex functions via generalized fractional integrals, *Math. Methods Appl.*, Vol:44, No.17 (2021), 12522-12536.
- [5] H. Budak, New version of Simpson type inequality for Ψ -Hilferfractional integrals, *Adv. Anal. Appl. Math.*, 1(1) (2024), 1-11.
- [6] H. Budak, F. Hezenci, H. Kara and M.Z. Sarikaya, Bounds for the error in approximating a fractional integral by Simpson's Rule, *Mathematics*, Vol:11, No.10 (2023), 2282.
- [7] H. Budak, F. Hezenci, T. Tunç and M. Z. Sarikaya, On new versions of Hermite-Hadamard-type inequalities based on tempered fractional integrals, *Filomat*, Vol:38, No.7 (2024), 2361-2379.
- [8] R. G. Buschman, Decomposition of an integral operator by use of Mikusinski calculus, *SIAM J. Math. Anal.*, Vol:3, No.1 (1972), 83-85.
- [9] J. Cai, B. Wang and T. Du, Simpson type inequalities for twice-differentiable functions arising from Tempered fractional integral operators, *IAENG Int. J. Appl. Math.*, Vol:54, No.5 (2024), 831-839.
- [10] M. Caputo and M. Fabrizio, A new definition of fractional derivative without singular kernel, *Progress in Fractional Differentiation and Applications*, Vol:1, No.2 (2015), 73-85.
- [11] M. A. Chaudhry and S. M. Zubair, Generalized incomplete gamma functions with applications, *J. Comput. Appl. Math.*, Vol:55, No.1 (1994), 99-124.
- [12] J. Chen and X. Huang, Some new inequalities of Simpson's type for s -convex functions via fractional integrals, *Filomat*, Vol:31, No.15 (2017), 4989-4997.
- [13] İ. Demir and T. Tunç, A new approach to Simpson-type inequality with proportional Caputo-hybrid operator, *Math. Methods Appl.*, Vol:48, No.1 (2025), 93-106.
- [14] İ. Demir and E. Üneş, Conformable fractional Milne-type inequalities through twice-differentiable convex functions, *Fundam. J. Math. Appl.*, Vol:8, No.1 (2025), 31-42.
- [15] S. S. Dragomir, R. P. Agarwal and P. Cerone, On Simpson's inequality and applications, *J. Inequal. Appl.* Vol:5, No.6 (2000), 533-579.
- [16] T. Du, Y. Li and Z. Yang, A generalization of Simpson's inequality via differentiable mapping using extended (s, m) -convex functions, *Appl. Math. Comput.*, Vol:293, (2017), 358-369.
- [17] F. Sabzikar, M.M. Meerschaert and J. Chen, Tempered fractional calculus, *J. Comput. Phys.*, Vol:293, (2015), 14-28.
- [18] Gorenflo, R. and Mainardi, F., *Fractional calculus: integral and differential equations of fractional order*, Springer Verlag, Wien, 1997, 223-276.
- [19] X. Hai and S.H. Wang, Simpson type inequalities for convex function based on the generalized fractional integrals, *Turkish Journal of Inequalities*, Vol:5, No.1 (2021), 1-15.
- [20] F. Hezenci, H. Budak and H. Kara, New version of fractional Simpson type inequalities for twice differentiable functions, *Advances in Difference Equations*, Vol:2021, No.460 (2021).
- [21] F. Hezenci, H. Budak, H. Kara and U. Baş, Novel results of Milne-type inequalities involving tempered fractional integrals, *Bound. Value Probl.*, Vol:2024, No.1 (2024), 12.
- [22] S. Hussain and S. Qaisar, More results on Simpson's type inequality through convexity for twice differentiable continuous mappings, *SpringerPlus*, Vol:5, No.1 (2016), 1-9.
- [23] S. Hussain, J. Khalid and Y. M. Chu, Some generalized fractional integral Simpson's type inequalities with applications, *AIMS Math*, Vol:5, No.6 (2020), 5859-5883.
- [24] S. Kermausuor, Simpson's type inequalities via the Katugampola fractional integrals for s -convex functions, *Kragujevac J. Math.*, Vol:45, No.5 (2021), 709-720.
- [25] Kilbas, A. A., Srivastava, H. M. and Trujillo, J. J., *Theory and applications of fractional differential equations*, North-Holland Mathematics Studies, 204, Elsevier Sci. B.V., Amsterdam, 2006.
- [26] H. Lei, G. Hu, J. Nie and T. Du, Generalized Simpson-type inequalities considering first derivatives through the k -Fractional Integrals, *IAENG Int. J. Appl. Math.*, Vol:50, No.3 (2020), 1-8.
- [27] C. Li, W. Deng and Z. Zhao, Well-posedness and numerical algorithm for the tempered fractional ordinary differential equations, *Discret. Cont. Dyn-B*, Vol:24, No.4 (2019), 1989-2015.
- [28] W. Liu, Some Simpson type inequalities for h -convex and (α, m) -convex functions, *J. Comput. Anal. App.*, Vol:16, No.5 (2014), 1005-1012.
- [29] C. Luo and T. Du, Generalized Simpson type inequalities involving Riemann-Liouville fractional integrals and their applications, *Filomat*, Vol:34, No.3 (2020), 751-760.
- [30] M. Matloka, Some inequalities of Simpson type for h -convex functions via fractional integrals, *Abstr. Appl. Anal.*, Vol:2015, Article ID 956850, 5 pages.
- [31] F. Sabzikar, M. M. Meerschaert and J. Chen, Tempered fractional calculus, *J. Comput. Phys.*, Vol:293, (2015), 14-28.
- [32] P. O. Mohammed, M. Z. Sarikaya and D. Baleanu, On the generalized Hermite-Hadamard inequalities via the tempered fractional integrals, *Symmetry*, Vol:12, No.4 (2020), 1-17.
- [33] M. E. Ozdemir, A. O. Akdemir and H. Kavurmaci, On the Simpson's inequality for convex functions on the coordinates, *Turkish Journal of Analysis and Number Theory*, Vol:2, No.5 (2014), 165-169.
- [34] J. Park, On Some Integral Inequalities for twice differentiable quasi-convex and convex functions via fractional integrals, *Appl. Math. Sci.*, Vol:9, No.62 (2015), 3057-3069.
- [35] S. Rashid, A. O. Akdemir, F. Jarad, M. A. Noor and K. I. Noor, Simpson's type integral inequalities for κ -fractional integrals and their applications, *AIMS Mathematics*, Vol:4, No.4 (2019), 1087-1100.

- [36] C. E. Torres Ledesma, H. A. Cuti, J. P. Avalos Rodríguez and W. Zubiaga Vera, Some boundedness results for Riemann-Liouville tempered fractional integrals, *Fractional Calculus and Applied Analysis*, Vol: 27, No.2 (2024), 818-847.
- [37] M. Z. Sarikaya, E. Set and M. E. Özdemir, On new inequalities of Simpson's type for s -convex functions, *Comput. Math. Appl.*, Vol:60, No.8 (2020), 2191-2199.
- [38] M. Vivas-Cortez, T. Abdeljawad, P. O. Mohammed and Y. Rangel-Oliveros, Simpson's integral inequalities for twice differentiable convex functions, *Math. Probl. Eng.*, 2020.
- [39] X. You, F. Hezenci, H. Budak and H. Kara, New Simpson type inequalities for twice differentiable functions via generalized fractional integrals, *AIMS Mathematics*, Vol:7, No.3 (2021), 3959-3971.